[ Efficiency vs vertpos |

0.95
1072 107

= 05 : :
20,45 b Beeneenae RREREIEES

4 : :
Q0| SREIREE EUR R oo s

(8] . .
B 0.35F oo e R

o : :
R S R o e
0.25k ﬁ ------ e o
0.2 it + ------------ e
0.15F ’},%% ------------- e
oI R e P SO e

3 A
0.05F -+e+esesesieeeenene eengrreendes
9 J.G.E 1 11 + 111 III. .qu]... L1 igill
& vosfrb-|-F-1fHT H 1 88 WERUPR

3 15
11 - ----1?-; --:t-- -E-- B R o I
1

10 0?
TP vertr (cr%)

CMSSW

RECO

[—=— DQM_VUUUI_RUUUUOOOUL__Global__ SW__T-
—e— DQM_V0001_R000000001__Global__mkFitOriginal _ RECO

[Efficiend —— DQM_V0001"R000000001 —Global _mkFitNew RECO
—— DQM_V0001_R000000001__Global _mkFitNew05__RECO

~ 0.5
2 0.45

o
> 0.4F
> o
LC) o
g 0.35F
o F
£ 0.3F
o E
0.25F-
0.2F

0.15F
0.1
0.05
10

Ratio

=
= =y
[T

20 30
TP vert z (cm)

I
QT

o

{ :

o

(@]

[E=X

o

[ Efficiency vs. sim PV z |
~ 05
>
Q. 0.45
IS
5 04
20.35
0.3
£0.25
5}
0.2
0.15
0.1
0.05]

lency

1.0

P 5 VA [

10 15 20
Sim. PV z (cm)

I
o




	Contents
	Page 1


